

NAME: ANJALI BLOSSOM ONYINGECHI

MAT No: 181ENG011014

DEPT: CHEMICAL ENGINEERING

$$(A) \frac{dy}{dx} = 2 \sin 2x = y \cdot \tan 2x$$

$$\frac{dy}{dx} + y \cdot \tan 2x = \sin 2x$$

$$P = \tan 2x$$

$$Q = 2 \sin 2x$$

$$\int P dx = \int \tan 2x = \int \frac{\sin 2x}{\cos 2x} dx$$

$$\cos 2x = u$$

$$\int \frac{\sin 2x}{u} dx$$

$$u = \cos 2x \quad dx = \frac{dy}{\sin 2x}$$

$$\frac{dy}{dx} = \sin 2x \cdot \frac{dy}{\sin 2x}$$

$$\int \frac{1}{u} du = \ln u = \ln \cos 2x$$

$$I_f = e^{\int P dx} = e^{\ln \cos 2x}$$

$$I_f = \cos 2x$$

$$\text{Then } y \cdot I_f = \int Q \cdot I_f dx$$

$$y \cdot \cos 2x = \int 2 \sin 2x \cdot \cos 2x dx$$

$$2 \sin 2x \cos 2x = \sin 4x$$

$$y \cdot \cos 2x = \frac{1}{2} \cdot 2 \cos 2x + C$$

$$y \cos 2x = \cos 2x + C$$

$$y = \frac{\cos 2x + C}{\cos 2x}$$

$$y = \frac{\cos 2x + C}{\cos 2x}$$

$$\text{let } C = A$$

$$y = \frac{\cos 2x + A}{\cos 2x}$$

(B)

$$\frac{dy}{dx} + 2y = e^{3x}$$

$$P = 2 \quad \int P dx = 2x$$

$$Q = e^{3x}$$

$$I_f = e^{\int P dx} = e^{2x}$$

$$y \cdot I_f = \int Q \cdot I_f dx$$

$$y \cdot e^{2x} = \int e^{3x} \cdot e^{2x} dx$$

$$y \cdot e^{2x} = \int e^{5x} dx$$

$$y \cdot e^{2x} = \frac{1}{5} e^{5x} + C \frac{e^{5x}}{5} + C$$

$$y = \frac{1}{5} e^{3x} + C \frac{e^{3x}}{5}$$

$$y = \left(\frac{e^{3x}}{5} + C \right) \div e^{2x}$$

$$y = \frac{e^{3x}}{5} + e^{-2x} C$$

(C)

$$x \frac{dy}{dx} = x^2 + 2x - 3$$

$$\frac{dy}{dx} = x + 2 - 3x^{-1}$$

$$\int \frac{dy}{dx} = \int x + 2 - 3x^{-1} dx$$

$$y = \frac{x^2}{2} + 2x - 3 \ln x + C$$

d

$$\frac{dy}{dx} + \frac{y}{x} = y^3$$

$$\text{Comparing to } \frac{dy}{dx} + Py = Qy^n$$

$$Q = 1 \quad P = x^{-1} = n = 3$$

Integrate through by y^3

$$y^{-3} \frac{dy}{dx} + \frac{y^2}{x} = 1 \text{ eqn (1)}$$

let $z = y^{-2}$ put $z = y^2$ in eqn (1)

$$= y^{-3} \frac{dy}{dx} + \frac{z}{x} = 1$$

differentiate z with respect to x

$$\frac{dz}{dx} = -2 \frac{dy^{-3}}{dy} \frac{dy}{dx} \quad \text{--- (2)}$$

multiply through by eqn (1) by -2

$$-2y^{-3} \frac{dy}{dx} + \frac{-2y^2}{x} = -2$$

Substitute $z = y^2$ and $\frac{dz}{dx} = -2y^{-3} \frac{dy}{dx}$

in equation (2)

$$\frac{dz}{dx} - \frac{2z}{x} = -2 \quad \text{(3)}$$

Applying integrating factor to eqn (3)

$$\frac{dy}{dx} + Py = Q$$

$$P = -\frac{2}{x} \quad Q = -2$$

$$\int P dx = -2 \ln x$$

$$e^{\int P dx} = e^{-2 \ln x} = \text{IF}$$

$$\text{IF} = \frac{1}{x^2}$$

$$Z \cdot \text{IF} = \int Q \cdot \text{IF} dx$$

$$Z \cdot \frac{1}{x^2} = \int -2 \cdot \frac{1}{x^2} dx$$

$$Z \cdot \frac{1}{x^2} = \int \frac{-2}{x^2} dx$$

$$Z \cdot \frac{1}{x^2} = \int \frac{-2}{x^2} dx$$

$$Z \cdot \frac{1}{x^2} = \int -2x^{-2} dx$$

$$\frac{Z}{x^2} = \frac{-2x^{-2+1}}{-2+1} + C$$

$$\frac{Z}{x^2} = 2x^{-1} + C$$

multiply through by x^2

$$Z = 2x + x^2 C$$

recall that $z = y^2$

$$y^2 = 2x + x^2 C$$

$$y = \frac{1}{\sqrt{2x + x^2 C}}$$

(e) $x^2 \frac{dy}{dx} = x^3 \sin 3x + 4$

$$\frac{dy}{dx} = x \sin 3x + 4x^{-2}$$

$$\int \frac{dy}{dx} = \int x \sin 3x + \int 4x^{-2}$$

$$y \cdot u = x \quad du = \sin 3x$$

$$dv = 1 \quad v = -\frac{\cos 3x}{3}$$

$$uv - \int v du =$$

$$= x \cdot -\frac{\cos 3x}{3} - \int 1 \cdot -\frac{\cos 3x}{3} dx$$

$$= -\frac{x \cos 3x}{3} - \int \frac{\cos 3x}{3}$$

$$= -\frac{x \cos 3x}{3} + \frac{\sin 3x}{3}$$

$$\frac{-x \cos 3x}{3} - \frac{\sin 3x}{9}$$

$$= \frac{-x \cos 3x}{3} - \frac{\sin 3x}{9} - 4x^{-1} + C$$

$$(m) (x^3 + xy^2) \frac{dy}{dx} = 2y^3$$

$$y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

dx

$$v + x \frac{dv}{dx} = \frac{x^3 (2v^3)}{x^3 (1+v^2)}$$

$$x \frac{dv}{dx} = \frac{2v^3}{1+v^2}$$

$$= \frac{2v^3 - v(1+v^2)}{1+v^2}$$

$$1+v^2$$

$$x dv = v^3$$

$$\frac{1+v^2}{v^3-v} dv = \frac{1}{x} dx$$

$$v(v-1)(v+1) = v^3 - v$$

$$\frac{1+v^2}{v^3-v} = \frac{A}{v} + \frac{B}{v-1} + \frac{C}{v+1}$$

$$1+v^2 = A(v-1)(v+1) + B(v)(v+1)$$

$$+ C(v)(v-1), v=1$$

$$1+1^2 = B(1)(2)$$

$$2 = B(2)$$

$$\therefore B=1$$

$$v=-1$$

$$1+(-1)^2 = C(-1)(-1-1)$$

$$\therefore C=1$$

$$v=0$$

$$1+(0)^2 = A(0-1)(2+1)$$

$$1 = A(-1)(1)$$

$$1 = A(-1)$$

$$A = -1$$

$$\int \left\{ \frac{-1}{v} + \frac{1}{v-1} + \frac{1}{v+1} \right\} dv = \int dx \frac{1}{x}$$

$$\int \frac{-1}{v} dv + \int \frac{1}{v-1} dv + \int \frac{1}{v+1} dv$$

$$= \int \frac{1}{x} dx$$

$$-\ln v + \ln(v-1) + \ln(v+1) = \ln x + C$$

$$\ln(v-1)(v+1) - \ln v = \ln x + \ln A$$

$$\frac{v^2-1}{v} = Ax$$

$$y = vx \quad \therefore v = y/x$$

$$\frac{(y/x)^2 - 1}{y/x} = Ax$$

$$\frac{y^2}{x^2} - 1 = Ax \cdot \frac{y}{x}$$

$$y^2/x^2 - 1 = Ay$$

$$\frac{y^2 - x^2}{x^2} = Ay$$

$$y^2 - x^2 = Ayx^2$$

$$y^2 = Ax^2y + x^2$$

$$y^2 = x^2(Ay + 1)$$